
 

 

 

Wir  sammeln  Schnecken         1 
 
 

3 + 1 =    1 + 2 =  
2 + 1 =    2 + 2 = 
1 + 1 =    1 + 3 = 
2 + 2 =    2 + 3 = 
3 + 2 =    1 + 1 = 
 
 

☺ Karoline Günther 2006 

 
 
 

Wir  sammeln  Schnecken         2 
 
 

3 - 1 =    3 - 2 =  
4 - 2 =    2 - 1 = 
4 - 1 =    2 - 2 = 
2 - 2 =    3 - 1 = 
1 - 1 =    4 - 1 = 
 

☺ Karoline Günther 2006 

☺ Karoline Günther 2006                              http://vs-material.wegerer.at 

http://tfp.killbots.com/fanart/bofr/043_tier-schnecke.gif


 

 

 

Wir  sammeln  Schnecken         3 
 
 

4 + 1 =    1 + 1 =  
2 + 3 =    1 + 2 = 
5 + 0 =    3 + 2 = 
3 + 1 =    0 + 3 = 
2 + 2 =    1 + 4 = 

 
☺ Karoline Günther 2006 

 
 
 

Wir  sammeln  Schnecken         4 
 
 

3 + 1 =    4 + 1 =  
2 + 0 =    3 + 2 = 
2 + 2 =    0 + 3 = 
1 + 4 =    1 + 3 = 
0 + 5 =    4 + 0 = 

 
☺ Karoline Günther 2006 

☺ Karoline Günther 2006                              http://vs-material.wegerer.at 



 

 

 

Wir  sammeln  Schnecken         5 
 
 

2 - 1 =    4 - 1 =  
3 - 2 =    5 - 3 = 
5 - 2 =    3 - 1 = 
4 - 2 =    5 - 4 = 

3 - 3 =    2 – 2 = 

 
☺ Karoline Günther 2006 

 
 
 

Wir  sammeln  Schnecken         6 
 
 

3 +  .  =  4   1 +  .  = 5 
4 +  .  =  4   2 +  .  = 5 
1 +  .  =  4   0 +  .  = 5 
0 +  .  =  4   3 +  .  = 5 
2 +  .  =  4   4 +  .  = 5 

 
☺ Karoline Günther 2006 

☺ Karoline Günther 2006                              http://vs-material.wegerer.at 



 

 

 

 

Wir  sammeln  Schnecken         7 
 
 

3 +  .  = 5   3 +  .  = 3 
5 +  .  = 5   1 +  .  = 3 
4 +  .  = 5   2 +  .  = 3 
0 +  .  = 5   3 +  .  = 4 
2 +  .  = 5   4 +  .  = 4 
 

☺ Karoline Günther 2006 
 
 
 

Wir  sammeln  Schnecken         8 
 
 

3 + 1 + 1 =   1 + 2 + 1 =  
2 + 0 + 2 =   2 + 0 + 1 = 
1 + 3 + 0 =   1 + 3 + 1 = 
2 + 2 + 1 =   3 + 0 + 2  = 
0 + 4 + 1 =   1 + 1 + 1 = 

 
☺ Karoline Günther 2006 

☺ Karoline Günther 2006                              http://vs-material.wegerer.at 



 

 

 

Wir  sammeln  Schnecken         9 
 
 

3 + 1 – 1 =   4 + 1 – 2 = 

2 + 3 – 1 =   2 + 2 – 1 = 

1 + 1 – 2 =   5 + 0 – 3 = 

3 + 2 – 3 =   3 + 1 – 2 = 

4 + 0 – 3 =   3 + 2 – 1 = 
 

☺ Karoline Günther 2006 
 

 
Wir  sammeln  Schnecken        10 
 
 

5 = 3 +  .   3 = 0 +  .  
4 = 1 +  .   5 = 2 +  . 
5 = 4 +  .   4 = 3 +  . 
3 = 2 +  .   5 = 5 +  . 
4 = 0 +  .   4 = 2 +  . 

 
☺ Karoline Günther 2006 

☺ Karoline Günther 2006                              http://vs-material.wegerer.at 



 

 

 

Wir  sammeln  Schnecken        11 
 
 

3 - 1 =    3 - 2 =  
4 - 2 =    2 - 1 = 
4 - 1 =    2 - 2 = 
2 - 2 =    3 - 1 = 
1 - 1 =    4 - 1 = 

 
☺ Karoline Günther 2006 

 
 
 

Wir  sammeln  Schnecken        12 
 
 

5 +  .  = 6   4 +  .  = 5 
4 +  .  = 6   1 +  .  = 6 
2 +  .  = 5   5 +  .  = 5 
3 +  .  = 6   2 +  .  = 6 
6 +  .  = 6   0 +  .  = 6 

 
☺ Karoline Günther 2006 

☺ Karoline Günther 2006                              http://vs-material.wegerer.at 



 

 

 

Wir  sammeln  Schnecken        13 
 
 

5 + 1 + 0 =   4 + 1 + 1 = 
2 + 3 + 1 =   2 + 1 + 3 = 
1 + 2 + 2 =   5 + 0 + 1 = 
3 + 1 + 2 =   2 + 0 + 3 = 
4 + 0 + 2 =   3 + 2 + 1 = 

 
☺ Karoline Günther 2006 

 
 
 

Wir  sammeln  Schnecken        14 
 
 

3 + 2 - 1 =    3 + 3 - 3 =  
4 + 2 - 3 =    1 + 5 - 3 = 
6 + 0 - 2 =    2 + 4 - 6 = 
2 + 3 - 4 =    3 + 3 - 5 = 
1 + 5 + 4 =    0 + 5 - 1 = 

 
☺ Karoline Günther 2006 

☺ Karoline Günther 2006                              http://vs-material.wegerer.at 



 

 

 

Wir  sammeln  Schnecken        15 
 
 

3 + 4 =    0 + 7 =  
4 + 2 =    2 + 5 = 
1 + 6 =    4 + 3 = 
2 + 3 =    3 + 3 = 
5 + 2 =    5 + 1 = 

 
☺ Karoline Günther 2006 

 
 
 

Wir  sammeln  Schnecken         16 
 
 

7 – 4 =   7 – 2 = 

7 - 3 =   6 – 2 = 

6 – 1 =   7 – 1 = 

7 - 5 =   6 – 3 = 
7 - 0 =   7 - 7 = 
6 - 5 =   7 - 6 = 
 

☺ Karoline Günther 2006 

☺ Karoline Günther 2006                              http://vs-material.wegerer.at 



 

 

 

Wir  sammeln  Schnecken        17 
 
 
4 +  .  = 7   2 +  .  = 7 
3 +  .  = 6   3 +  .  = 7  
0 +  .  = 7   2 +  .  = 6 
2 +  .  = 7   6 +  .  = 7 
1 +  .  = 6   5 +  .  = 7 
7 +  .  = 7   0 +  .  = 6 
 

☺ Karoline Günther 2006 
 

 
Wir  sammeln  Schnecken         18 
 
 
7 + 0 - 2 =   5 + 2 - 5 = 
3 + 4 - 3 =   1 + 6 - 2 = 
6 + 1 - 4 =   3 + 3 - 6 = 
2 + 5 - 1 =   2 + 4 - 5 = 
4 + 3 - 6 =   3 + 4 - 7 = 
1 + 5 - 3 =   0 + 7 - 4 = 

 

☺ Karoline Günther 2006 

☺ Karoline Günther 2006                              http://vs-material.wegerer.at 



 

 

 

Wir  sammeln  Schnecken        19 
 
 
4 + 4 =   3 + 4 = 
3 + 5 =   6 + 2 =  
0 + 8 =   7 + 1 = 
2 + 5 =   3 + 3 = 
1 + 7 =   6 + 1 = 
2 + 4 =   5 + 3 = 

 

☺ Karoline Günther 2006 
 
 
 

Wir  sammeln  Schnecken         20 
 
 

7 – 3 =   8 - 8 = 
8 - 2 =   7 - 4 = 
8 - 5 =   8 - 0 = 
8 - 3 =   8 - 1 = 
7 - 5 =   8 - 7 = 
8 - 6 =   8 - 4 = 

 

☺ Karoline Günther 2006 

☺ Karoline Günther 2006                              http://vs-material.wegerer.at 



 

 

 

Wir  sammeln  Schnecken        21 
 
 
4 +  .  = 8   2 +  .  = 8 
3 +  .  = 8   3 +  .  = 6  
0 +  .  = 8   2 +  .  = 7 
2 +  .  = 6   6 +  .  = 8 
1 +  .  = 8   8 +  .  = 8 
0 +  .  = 8   7 +  .  = 8 

 

☺ Karoline Günther 2006 
 
 
 

Wir  sammeln  Schnecken         22 
 
 
7 + 1 - 4 =   0 + 6 - 4 = 
6 + 2 - 5 =   5 + 3 - 7 = 
6 + 1 - 7 =   1 + 7 - 8 = 
3 + 5 - 2 =   4 + 4 - 0 = 
7 + 0 - 4 =   0 + 8 - 6 = 
4 + 4 - 3 =   3 + 4 - 6 = 

 

☺ Karoline Günther 2006 

☺ Karoline Günther 2006                              http://vs-material.wegerer.at 



 

 

 

Wir  sammeln  Schnecken        23 
 
 
4 +  .  = 8   2 + 5  = 

3 + 4  =    8 – 7  =  
0 +  .  = 8   5 + 3  = 
2 + 6  =    6 +  .  = 8 

8 – 5  =    4 + 3  = 

2 +  .  = 7   6 – 5  = 
 

☺ Karoline Günther 2006 
 
 
 

Wir  sammeln  Schnecken         24 
 
 
7 + 2 =   1 + 8 = 
3 + 6 =   6 + 3 = 
8 + 0 =   0 + 9 = 
4 + 5 =   2 + 7 = 
2 + 6 =   3 + 4 = 
1 + 5 =   5 + 4 = 

 

☺ Karoline Günther 2006 

☺ Karoline Günther 2006                              http://vs-material.wegerer.at 

http://images.google.at/imgres?imgurl=http://www.deingaertner.de/bilder/schnecke.jpg&imgrefurl=http://www.deingaertner.de/bau-kunst-garten.html&h=196&w=182&sz=12&tbnid=zfuzrz9XoEEJ:&tbnh=98&tbnw=91&hl=de&start=31&prev=/images%3Fq%3DSchnecke%26start%3D20%26svnum%3D10%26hl%3Dde%26lr%3D%26sa%3DN


 

 

 

Wir  sammeln  Schnecken         25 
 
 

9 – 4 =   9 – 2 = 

8 - 3 =   9 – 9 = 

9 – 1 =   9 – 8 = 

9 - 5 =   9 – 3 = 
9 - 0 =   9 - 7 = 
8 - 5 =   9 - 6 = 

 

☺ Karoline Günther 2006 
 
 
 

Wir  sammeln  Schnecken        26 
 
 
4 +  .  = 9   2 +  .  = 8 
3 +  .  = 7   3 +  .  = 9  
0 +  .  = 9   6 +  .  = 9 
2 +  .  = 9   9 +  .  = 9 
1 +  .  = 8   5 +  .  = 8 
7 +  .  = 9   0 +  .  = 9 

 

☺ Karoline Günther 2006 

☺ Karoline Günther 2006                              http://vs-material.wegerer.at 



 

 

 

Wir  sammeln  Schnecken        27 
 
 

4 + 5 – 2 =   2 + 6 – 5 = 

3 + 6 – 7 =   3 + 4 – 7 =  

0 + 8 – 6 =   5 + 4 – 8 = 

2 + 7 – 9 =   6 + 3 – 2 = 

1 + 8 – 4 =   3 + 5 – 6 = 

7 + 2 – 5 =   0 + 9 – 3 = 
☺ Karoline Günther 2006 

 
 
 

Wir  sammeln  Schnecken         28 
 
 

9 – 4 =   1 + 8  = 

5 +  . = 9  6 – 2 = 
6 + 3  =   7 +  . = 9 
7 - 5 =   2 + 6  = 
4 + 4  =   9 - 7 = 
2 +  .  = 9  9 - 9 = 

 

☺ Karoline Günther 2006 

☺ Karoline Günther 2006                              http://vs-material.wegerer.at 



 

 

 

 

Wir  sammeln  Schnecken         29 
 
 

7 + 3 =   2 + 8 = 
3 + 7 =   6 + 4 = 
8 + 2 =   0 + 7 = 
4 + 3 =   3 + 7 = 
2 + 7 =   5 + 5 = 
1 + 9 =   5 + 3 = 

 

☺ Karoline Günther 2006 
 
 
 

Wir  sammeln  Schnecken         30 
 
 

10 – 4 =  10 – 10 = 

10 - 3 =   10 – 2 = 

10 – 1 =    9 – 1 = 

10 - 5 =  10 – 9 = 
10 - 0 =   10 - 7 = 
 9 - 8 =   10 - 8 = 

 

☺ Karoline Günther 2006 

☺ Karoline Günther 2006                              http://vs-material.wegerer.at 



 

 

 

Wir  sammeln  Schnecken        31 
 
 
4 +  .  = 10   5 +  .  = 10 
3 +  .  = 10   8 +  .  = 10  
0 +  .  = 10   1 +  .  = 10 
2 +  .  = 10   6 +  .  = 10 
9 +  .  = 10   4 +  .  = 10 
7 +  .  = 10   10 +  .  = 10 

 

☺ Karoline Günther 2006 
 
 
 

Wir  sammeln  Schnecken        32 
 
 

10 – 4 =   5 +  5 =  

6 +  .  = 10   6 – 2  = 
6 +  3   =    7 +  . = 10 
7 -  5 =    2 +  7  =  
1 +  9   =    3 +  .  = 10 
4 +  .  = 10          10 - 7  = 

 

☺ Karoline Günther 2006 

☺ Karoline Günther 2006                              http://vs-material.wegerer.at 



 

 

 

 

 
 

Rechenkartei  im  ZR 10 
 

 
☺ Karoline Günther 2006 

 

☺ Karoline Günther 2006                              http://vs-material.wegerer.at 


